LeX

Instructions: Work the problems below as directed. Show all work. Clearly mark your final answers. Use
exact values unless the problem specifically directs you to round. Simplify as much as possible. Partial

credit is possible, but solutions without work will not receive full credit.

MTH 263, Quiz #9, Summer 2023 Name

1. Find the antiderivatives of each of the following.
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2. Use summation formulas to find the value of the sums.
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3. Estimate the area under the curve f(x) = 8 + x — x? on the interval [-1,2] using 6 rectangles
and the right-endpoint rule. Sketch a graph of what you are doing.

L L
5 BT r-wdx 2 £ )Bx =

= B

-1 2
Ke= z-\, .0, V3, ), ¥, D-E

S TACEY  fo) « $0h) - F0) + (ORI T ED) =

2-0) , B=57 M

) ;
%[’1.25’1—%*3.2?-& 8*1?.3«—%]:2&3?5 X"““’;Ax:'“é‘t
("

Sty 8+ (-1+ £) - (kY

o 8-—-]+é—(l§-—i+i)’
: g
:r""fi_‘-'..lq +1 -1 =
i -4
4. Find the exact value of the area under the curve on the same interval as in #3. -1+ .3—;\-
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